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0.0 0 0.0 0.0
0.1 1 0.0 Pr 1.0 1 1.0 1 0.6 prach, hlina 0.36 meékka meékka - - - - 17 - 28 36 2 0.35| 0.63 0.6
0.2 2 0.0 Pr 2.0 2 2.0 1 1.1 prach, hlina 0.51 tuha tuha - - - - 17 - 28 51 3 0.35| 0.64 1.3
0.3 3 0.0 Pr 3.0 4 2.9 1 1.7 prach, hlina 0.63 tuha tuha - - - - 17 - 28 63 4 0.34 | 0.64 1.9
0.4 2 0.0 Pr 2.0 2 2.0 1 1.1 prach, hlina 0.51 tuha tuha - - - - 17 - 28 51 3 0.35 | 0.64 1.3
0.5 3 0.0 Pr 3.0 4 2.9 1 1.7 prach, hlina 0.63 tuha tuha - - - - 17 - 28 63 4 0.34 | 0.64 1.9
0.6 2 0.0 Pr 2.0 2 2.0 1 1.1 prach, hlina 0.51 tuha tuha - - - - 17 - 28 51 3 0.35| 0.64 1.3
0.7 2 0.0 Pr 2.0 2 2.0 1 1.1 prach, hlina 0.51 tuha tuha - - - - 17 - 28 51 3 0.35| 0.64 1.3
0.8 2 0.0 Pr 2.0 2 2.0 1 1.1 prach, hlina 0.51 tuha tuha - - - - 17 - 28 51 3 0.35| 0.64 1.3
0.9 2 0| 0.0 Pr 2.0 2 2.0 1 1.1 prach, hlina 0.51 tuha tuha - - - - 17 - 28 51 3 0.35| 0.64 1.3
1.0 2 0.0 Pr 2.0 2 1.9 2 1.0 prach, hlina 0.49 meékka meékka - - - - 17 - 28 49 3 0.35| 0.63 1.1] 10
1.1 2 0.0 Pr 2.0 2 1.9 2 1.0 prach, hlina 0.48 meékka meékka - - - - 17 - 28 48 3 0.35| 0.63 1.1
1.2 2 0.1 Pr 1.9 2 1.9 2 1.0 prach, hlina 0.48 meékka meékka - - - - 17 - 28 48 3 0.35| 0.63 1.1
1.3 2 0.1 Pr 1.9 2 1.9 2 1.0 prach, hlina 0.48 meékka meékka - - - - 17 - 28 48 3 0.35| 0.63 1.1
1.4 2 0.1 Pr 1.9 2 1.9 2 1.0 prach, hlina 0.48 meékka meékka - - - - 17 - 28 48 3 0.35| 0.63 1.1
1.5 2 0.1 Pr 1.9 2 1.8 2 1.0 prach, hlina 0.47 meékka meékka - - - - 17 - 28 47 3 0.35| 0.63 1.1
1.6 2 0.1 Pr 1.9 2 1.8 2 1.0 prach, hlina 0.47 meékka meékka - - - - 17 - 28 47 3 0.35| 0.63 1.1
1.7 3 0.2 Pr 2.8 3 2.8 2 1.5 prach, hlina 0.58 tuha tuha - - - - 17 - 28 58 4 0.34 | 0.64 1.6
1.8 2 0.2 Pr 1.8 2 1.8 2 0.9 prach, hlina 0.47 meékka meékka - - - - 17 - 28 47 3 0.35| 0.63 1.0
1.9 3 7( 0.2 Pr 2.8 3 2.7 2 1.5 prach, hlina 0.58 tuha tuha - - - - 17 - 28 58 4 0.34 | 0.64 1.6
2.0 3 0.3 Pr 2.7 3 2.7 3 1.3 prach, hlina 0.55 tuha tuha - - - - 17 - 28 55 3 0.34 | 0.64 1.4] -0
2.1 2 0.4 Pr 1.6 2 1.6 3 0.8 prach, hlina 0.42 meékka meékka - - - - 17 - 28 42 2 0.35| 0.63 0.9
2.2 2 0.5 Pr 1.5 2 1.5 3 0.7 prach, hlina 0.41 meékka meékka - - - - 17 - 28 41 2 0.35| 0.63 0.8
2.3 2 0.5 Pr 1.5 2 1.4 3 0.7 prach, hlina 0.40 meékka meékka - - - - 17 - 28 40 2 0.35| 0.63 0.8
2.4 2 0.6 Pr 1.4 2 13 3 0.7 prach, hlina 0.39 meékka meékka - - - - 17 - 28 39 2 0.35| 0.63 0.7
2.5 3 0.7 Pr 2.3 3 2.2 3 1.1 prach, hlina 0.50 tuha tuha - - - - 17 - 28 50 3 0.35| 0.64 1.2
2.6 3 0.8 Pr 2.2 3 2.2 3 1.1 prach, hlina 0.49 meékka meékka - - - - 17 - 28 49 3 0.35| 0.64 1.2
2.7 5 0.9 NG 4.1 5 4.0 3 2.0 jil prekonsolidovany | 0.68 tuha tuha - - - - 18 - 19 68 5 0.41 | 0.45 2.2
2.8 4 1.0 NG 3.0 4 3.0 3 1.5 jil prekonsolidovany | 0.58 tuha tuha - - - - 18 - 18 58 4 0.41| 0.44 1.6
29 4] 35 11 NG 3.0 4 2.9 3 1.4 jil prekonsolidovany | 0.57 tuha tuha - - - - 18 - 18 57 4 0.41| 0.44 1.6
3.0 5 1.1 NG 3.9 5 3.9 4 1.8 jil prekonsolidovany | 0.64 tuha tuha - - - - 18 - 18 64 4 0.41 | 0.45 1.9] 30
3.1 6 1.1 NG 4.9 6 4.8 4 2.2 jil prekonsolidovany | 0.71 tuha tuha - - - - 18 - 19 71 5 0.40 | 0.45 2.4
3.2 7 1.1 NG 5.9 7 5.8 4 2.6 jil prekonsolidovany | 0.78 pevna tuhd - - - - 18 - 19 78 6 | 0.40| 0.45 2.9
3.3 9 1.1 NG 7.9 9 7.7 4 3.5 jil prekonsolidovany | 0.90 pevna tuhd - - - - 18 - 19 90 8 | 0.40| 0.46 3.9
3.4 9 1.1 NG 7.9 9 7.7 4 3.5 jil prekonsolidovany | 0.90 pevna tuhd - - - - 18 - 19 90 8 | 0.40| 0.46 3.9
3.5 8 1.1 NG 6.9 8 6.7 4 3.1 jil prekonsolidovany | 0.84 pevna tuhd - - - - 18 - 19 84 7 |0.40| 0.46 34
3.6 9 1.2 NG 7.8 9 7.7 4 3.5 jil prekonsolidovany | 0.90 pevna tuhd - - - - 18 - 19 90 8 | 0.40| 0.46 3.8
3.7 10 1.2 NG 8.8 11 8.7 4 3.9 jil prekonsolidovany | 0.95 pevna tuhd - - - - 18 - 19 95 9 | 0.40| 0.46 4.3
3.8 9 1.2 NG 7.8 9 7.7 4 3.5 jil prekonsolidovany | 0.90 pevna tuhd - - - - 18 - 19 90 8 | 0.40| 0.46 3.8
3.9 9 40 1.2 NG 7.8 9 7.7 4 3.5 jil prekonsolidovany | 0.90 pevna tuhd - - - - 18 - 19 90 8 | 0.40 | 0.46 3.8
4.0 9 2.0 NG 7.0 8 6.9 5 2.9 jil prekonsolidovany | 0.82 pevna tuhd - - - - 18 - 19 82 7 |0.40| 0.46 3.2] 40
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N/10 - poéet Gderd na 10 cm -

redukovéno



